## CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER NO. Two (2) WILDWOOD DRIVE STREET AND UTILITIES CONSTRUCTION PROJECT WSS00-943

#### **JUNE 1, 2001**

### ORIGINAL CONTRACT AMOUNT: \$1,778,916.21

CONTRACTOR: HILLS MATERIALS CO.

LINE ITEM	DESCRIPTION	UNIT	CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	QUANTITY CHANGE	REVISED QUANTITY	REVISED CONTRACT PRICE	INCREASE/ (DECREASE)
1	CONSTRUCTION STAKING (CONTRACTOR FURNISHED)	LS	1.00	\$20,200.00	\$20,200.00	0.00	1.00	\$20,200.00	\$0.00
2	REESTABLISH PROPERTY CORNERS	EA	22.00	\$90.00	\$1,980.00	0.00	22.00	\$1,980.00	\$0.00
3	MOBILIZATION	LS	1.00	\$27,000.00	\$27,000.00	0.00	1.00	\$27,000.00	\$0.00
4	INCIDENTAL WORK	LS	1.00	\$25,000.00	\$25,000.00	0.00	1.00	\$25,000.00	\$0.00
5	INCIDENTAL WORK FOR LANDSCAPE	LS	1.00	\$29,900.00	\$29,900.00	0.00	1.00	\$29,900.00	\$0.00
6	CLEARING	LS	1.00	\$22,000.00	\$22,000.00	0.00	1.00	\$22,000.00	\$0.00
7	TRAFFIC CONTROL	LS	1.00	\$12,000.00	\$12,000.00	0.00	1.00	\$12,000.00	\$0.00
8	TYPE B ADV WARING ARROW PANEL	EA	1.00	\$1,000.00	\$1,000.00	0.00	1.00	\$1,000.00	\$0.00
9	FLAGGING	HR	50.00	\$20.00	\$1,000.00	0.00	50.00	\$1,000.00	\$0.00
10	JUNCTION BOX ADJUSTMENT (TRAFFIC SIGNALS)	EA	3.00	\$280.00	\$840.00	0.00	3.00	\$840.00	\$0.00
11	REMOVE PAVEMENT MARKINGS-STRIPES	LF	200.00	\$1.10	\$220.00	0.00	200.00	\$220.00	\$0.00
12	REMOVE PAVEMENT MARKINGS - ARROW	EA	6.00	\$27.75	\$166.50	0.00	6.00	\$166.50	\$0.00
13	REMOVE PAVEMENT MARKINGS - MESSAGE	EA	2.00	\$27.75	\$55.50	0.00	2.00	\$55.50	\$0.00
14	REMOVE CONCRETE CURB AND GUTTER	LF	156.00	\$2.00	\$312.00	0.00	156.00	\$312.00	\$0.00
15	REMOVE CONCRETE SIDEWALK	SF	456.00	\$0.90	\$410.40	0.00	456.00	\$410.40	\$0.00
16	REMOVE CONCRETE FILLET	SY	27.00	\$7.80	\$210.60	0.00	27.00	\$210.60	\$0.00
17	REMOVE CONCRETE DRIVEWAY	SY	724.00	\$2.90	\$2,099.60	0.00	724.00	\$2,099.60	\$0.00
18	REMOVE PIPE CULVERTS	LF	620.00	\$3.20	\$1,984.00	0.00	620.00	\$1,984.00	\$0.00
19	REMOVE & RESET WOOD FENCE	LF	456.00	\$12.00	\$5,472.00	0.00	456.00		\$0.00

REMOVE & RESET CHAIN LINK FENCE	LF	96.00	\$14.00	\$1,344.00	0.00	96.00	\$1,344.00	\$0.00
REMOVE AND SALVAGE CHAIN LINK FENCE	LF	196.00	\$7.00	\$1,372.00	0.00	196.00	\$1,372.00	\$0.00
UNCLASSIFIED EXCAVATION	CY	9140.00	\$11.50	\$105,110.00	0.00	9140.00	\$105,110.00	\$0.00
EXCAVATION, UNCLASSIFIED, DIGOUTS	CY	100.00	\$10.00	\$1,000.00	0.00	100.00	\$1,000.00	\$0.00
UNCLASSIFIED EXCAVATION, DIGOUTS W/SUGAR ROCK	TON	120.00	\$19.50	\$2,340.00	0.00	120.00	\$2,340.00	\$0.00
	M GAL	50.00	\$44.50	\$2,225.00	0.00	50.00	\$2,225.00	\$0.00
WATER FOR DUST CONTROL	M GAL	150.00	\$25.00	\$3,750.00	0.00	150.00	\$3,750.00	\$0.00
MILL & REMOVE ASPHALT CONCRETE PAVEMENT, FULL DEPTH	SY	13840.00	\$2.05	\$28,372.00	0.00	13840.00	\$28,372.00	\$0.00
AASHTO T-180 SOIL TEST	EA	12.00	\$170.00	\$2,040.00	0.00	12.00	\$2,040.00	\$0.00
ASPHALT COMPACTION TEST	EA	21.00	\$60.00	\$1,260.00	0.00	21.00	\$1,260.00	\$0.00
CONCRETE TEST SET	EA	12.00	\$155.00	\$1,860.00	0.00	12.00	\$1,860.00	\$0.00
COLD PLASTIC PAVEMENT MARKING, 4"	LF	3725.00	\$2.50	\$9,312.50	0.00	3725.00	\$9,312.50	\$0.00
COLD PLASTIC PAVEMENT MARKING, 12"	LF	105.00	\$5.50	\$577.50	0.00	105.00	\$577.50	\$0.00
COLD PLASTIC PAVEMENT MARKING, 24"	LF	125.00	\$15.50	\$1,937.50	0.00	125.00	\$1,937.50	\$0.00
COLD PLASTIC PAVEMENT MARKING, ARROW	EA	9.00	\$220.00	\$1,980.00	0.00	9.00	\$1,980.00	\$0.00
COLD PLASTIC PAVEMENT MARKING, MESSAGE	WORD	3.00	\$220.00	\$660.00	0.00	3.00	\$660.00	\$0.00
AGGREGATE BASE COURSE	TON	4110.00	\$11.00	\$45,210.00	0.00	4110.00	\$45,210.00	\$0.00
ASPHALT CONCRETE, CLASS G, TYPE 1	TON	2490.00	\$35.50	\$88,395.00	0.00	2490.00	\$88,395.00	\$0.00
ASPHALT CONCRTE, C;ASS G. TYPE 2	TON	1700.00	\$38.00	\$64,600.00	0.00	1700.00	\$64,600.00	\$0.00
BITUMINOUS TACK COAT	GAL	1470.00	\$1.70	\$2,499.00	0.00	1470.00	\$2,499.00	\$0.00
CONCRETE CURB AND GUTTER, TYPE B66	LF	6360.00	\$11.00	\$69,960.00	0.00	6360.00	\$69,960.00	\$0.00
CONCRETE P6 GUTTER	LF	640.00	\$10.70	\$6,848.00	0.00	640.00	\$6,848.00	\$0.00
CONCRETE SIDEWALK, 4"	SF	370.00	\$4.20	\$1,554.00	0.00	370.00	\$1,554.00	\$0.00
	REMOVE AND SALVAGE CHAIN LINK FENCE  UNCLASSIFIED EXCAVATION  EXCAVATION, UNCLASSIFIED, DIGOUTS  UNCLASSIFIED EXCAVATION, DIGOUTS  W/SUGAR ROCK  WATER FOR SOD AND/OR PLANTS  WATER FOR DUST CONTROL  MILL & REMOVE ASPHALT CONCRETE  PAVEMENT, FULL DEPTH  AASHTO T-180 SOIL TEST  ASPHALT COMPACTION TEST  COLD PLASTIC PAVEMENT MARKING, 4"  COLD PLASTIC PAVEMENT MARKING, 12"  COLD PLASTIC PAVEMENT MARKING, 24"  COLD PLASTIC PAVEMENT MARKING, ARROW  COLD	REMOVE AND SALVAGE CHAIN LINK FENCE  UNCLASSIFIED EXCAVATION  CY  EXCAVATION, UNCLASSIFIED, DIGOUTS  CY  UNCLASSIFIED EXCAVATION, DIGOUTS  W/SUGAR ROCK  WATER FOR SOD AND/OR PLANTS  M GAL  MILL & REMOVE ASPHALT CONCRETE  PAVEMENT, FULL DEPTH  AASHTO T-180 SOIL TEST  CONCRETE TEST SET  COLD PLASTIC PAVEMENT MARKING, 4"  COLD PLASTIC PAVEMENT MARKING, 12"  LF  COLD PLASTIC PAVEMENT MARKING, 24"  COLD PLASTIC PAVEMENT MARKING, 24"  LF  COLD PLASTIC PAVEMENT MARKING, 24"  COLD PLASTIC PAVEMENT MARKING, 24"  LF  COLD PLASTIC PAVEMENT MARKING, ARROW  COLD PLASTIC PAVEMENT MARKING, WORD  ASPHALT CONCRETE, CLASS G, TYPE 1  TON  ASPHALT CONCRETE, C;ASS G. TYPE 2  TON  BITUMINOUS TACK COAT  CONCRETE FOR GUTTER  LF  CONCRETE SIDEWALK 4"	REMOVE AND SALVAGE CHAIN LINK FENCE  REMOVE AND SALVAGE CHAIN LINK FENCE  LF  196.00  REMOVE AND SALVAGE CHAIN LINK FENCE  LF  196.00  UNCLASSIFIED EXCAVATION  EXCAVATION, UNCLASSIFIED, DIGOUTS  WISUGAR ROCK  WATER FOR SOD AND/OR PLANTS  WAGAL  WATER FOR DUST CONTROL  MILL & REMOVE ASPHALT CONCRETE  PAVEMENT, FULL DEPTH  AASHTO T-180 SOIL TEST  CONCRETE TEST SET  COLD PLASTIC PAVEMENT MARKING, 4"  LF  105.00  COLD PLASTIC PAVEMENT MARKING, 12"  COLD PLASTIC PAVEMENT MARKING, 24"  LF  105.00  COLD PLASTIC PAVEMENT MARKING, 24"  LF  105.00  COLD PLASTIC PAVEMENT MARKING, 24"  LF  105.00  COLD PLASTIC PAVEMENT MARKING, 24"  LF  125.00  COLD PLASTIC PAVEMENT MARKING, 24"  LF  125.00  COLD PLASTIC PAVEMENT MARKING, 24"  LF  125.00  COLD PLASTIC PAVEMENT MARKING, EA  9.00  ASPHALT CONCRETE, CLASS G, TYPE 1  TON  ASPHALT CONCRETE, CLASS G, TYPE 2  TON  DITUMINOUS TACK COAT  CONCRETE P6 GUTTER  LF  640.00  CONCRETE SIDEWALK 4"	LF   96.00   \$14.00	LF   96.00   \$14.00   \$13,44.00   \$13,44.00   \$13,44.00   \$13,44.00   \$13,44.00   \$13,44.00   \$13,72.00   \$13,72.00   \$13,72.00   \$10,000   \$10,	REMOVE AND SALVAGE CHAIN LINK FENCE  LF  196.00  \$7.00  \$1,372.00  0.00  UNCLASSIFIED EXCAVATION  CY  9140.00  \$11.50  \$10.00  \$1,000.00  0.00  EXCAVATION, UNCLASSIFIED, DIGOUTS  CY  100.00  \$10.00  \$10.00  \$1,000.00  0.00  UNCLASSIFIED EXCAVATION, DIGOUTS  TON  120.00  \$19.50  \$2,340.00  0.00  WATER FOR SOD AND/OR PLANTS  M GAL  50.00  \$44.50  \$2,225.00  0.00  WATER FOR DUST CONTROL  MIGAL  150.00  \$25.00  \$3,750.00  0.00  MILL & REMOVE ASPHALT CONCRETE  PAVEMENT, FULL DEPTH  AASHTO T-180 SOIL TEST  EA  12.00  \$170.00  \$2,040.00  0.00  ASPHALT COMPACTION TEST  EA  12.00  \$155.00  \$1,260.00  0.00  CONCRETE TEST SET  EA  12.00  \$155.00  \$1,860.00  0.00  COLD PLASTIC PAVEMENT MARKING, 4°  LF  125.00  \$155.00  \$1,937.50  0.00  COLD PLASTIC PAVEMENT MARKING, 24°  LF  125.00  \$155.00  \$1,937.50  0.00  COLD PLASTIC PAVEMENT MARKING, 48°  LF  125.00  \$11.00  \$44.50  \$2,040.00  0.00  0.00  0.00  COLD PLASTIC PAVEMENT MARKING, 48°  LF  125.00  \$1,937.50  0.00  COLD PLASTIC PAVEMENT MARKING, 48°  LF  125.00  \$11.00  \$45.21  0.00  \$1	REMOVE AND SALVAGE CHAIN LINK FENCE  LF 196.00 \$7.00 \$1,372.00 0.00 196.00  NEMOVE AND SALVAGE CHAIN LINK FENCE  LF 196.00 \$7.00 \$1,372.00 0.00 196.00  UNCLASSIFIED EXCAVATION  CY 9140.00 \$11.50 \$105,110.00 0.00 9140.00  EXCAVATION, UNCLASSIFIED, DIGOUTS  CY 100.00 \$10.00 \$1,00.00 0.00 100.00  UNCLASSIFIED EXCAVATION, DIGOUTS  WASIGAR ROCK  WASIFIED EXCAVATION, DIGOUTS  M GAL  150.00 \$19.50 \$2,340.00 0.00 120.00  MILL & REMOVE ASPHALT CONCRETE  SY 13840.00 \$2.05 \$28,372.00 0.00 150.00  MILL & REMOVE ASPHALT CONCRETE  SY 13840.00 \$2.05 \$28,372.00 0.00 13840.00  ASPHALT COMPACTION TEST  EA 12.00 \$170.00 \$2,040.00 0.00 12.00  CONCRETE TEST SET  EA 12.00 \$155.00 \$1,860.00 0.00 12.00  CONCRETE TEST SET  EA 12.00 \$155.00 \$1,860.00 0.00 12.00  COLD PLASTIC PAVEMENT MARKING, 4"  LF 3725.00 \$5.50 \$5.77.50 0.00 105.00  COLD PLASTIC PAVEMENT MARKING, 2"  LF 105.00 \$15.50 \$1,937.50 0.00 125.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$220.00 \$1,930.00 0.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$220.00 \$1,930.00 0.00 9.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$220.00 \$1,930.00 0.00 125.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$220.00 \$1,930.00 0.00 9.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$220.00 \$1,930.00 0.00 125.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$220.00 \$1,930.00 0.00 125.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$220.00 \$1,930.00 0.00 125.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$220.00 \$1,930.00 0.00 125.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$220.00 \$660.00 0.00 125.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$220.00 \$660.00 0.00 125.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$220.00 \$660.00 0.00 125.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$220.00 \$660.00 0.00 125.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$220.00 \$660.00 0.00 125.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$220.00 \$660.00 0.00 125.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$220.00 \$660.00 0.00 125.00  COLD PLASTIC PAVEMENT MARKING, EA 9.00 \$2	LF   96.00   \$1.344.00   \$1.344.00   0.00   96.00   \$1.344.00   0.00   96.00   \$1.344.00   0.00   96.00   \$1.344.00   0.00   96.00   \$1.344.00   0.00   196.00   \$1.372.00   0.00   196.00   \$1.372.00   0.00   196.00   \$1.372.00   0.00   196.00   \$1.372.00   0.00   196.00   \$1.372.00   0.00   196.00   \$1.000.00   \$1.000.00   \$1.000.00   \$1.000.00   \$1.000.00   0.00   196.00   \$1.000.00   0.00   196.00   \$1.000.00   0.00   196.00   \$1.000.00   0.00   196.00   \$1.000.00   0.0

INSTALL STEEL BARS IN PCC PAVEMENT	EA	14.00	\$15.50	\$217.00	0.00	14.00	\$217.00	\$0.00
CONCRETE FILLET & PAN (REINFORCED), 8"	SY	26.00	\$57.50	\$1,495.00	0.00	26.00	\$1,495.00	\$0.00
CONCRET FILLET & PAN (REINFORCED), 6"	SY	104.00	\$54.00	\$5,616.00	0.00	104.00	\$5,616.00	\$0.00
CONCRETE DRAIN PAN	SY	46.00	\$35.50	\$1,633.00	0.00	46.00	\$1,633.00	\$0.00
PCC PAVEMENT, 8" NON REINFORCED	SY	23.00	\$37.50	\$862.50	0.00	23.00	\$862.50	\$0.00
CONCRETE APPROACH PAVEMENT, 6"	SY	426.00	\$37.00	\$15,762.00	0.00	426.00	\$15,762.00	\$0.00
CONCRETE DRIVEWAY PAVEMENT	SY	556.00	\$35.00	\$19,460.00	0.00	556.00	\$19,460.00	\$0.00
CONTRETE DRIVEWAY PAVEMENT, HEATED	SY	0.00	\$0.00	\$0.00	0.00	0.00		\$0.00
TYPE E INLET, 10'	EA	9.00	\$4,050.00	\$36,450.00	0.00			\$0.00
48" RCP ARCH, CLASS II	LF	218.00	\$120.00	\$26,160.00	0.00			\$0.00
36" RCP ARCH, CLASS II	LF	44.00	\$90.00	\$3,960.00	0.00			\$0.00
24" RCP, CLASS II	LF	546.00	\$35.00	\$19,110.00	0.00			\$0.00
18" RCP, CLASS II	LF	290.00	\$29.00	\$8,410.00	0.00			\$0.00
15" RCP, CLASS II	LF	60.00	\$26.00	\$1,560.00	0.00			\$0.00
18" CMP	LF	114.00	\$26.00	\$2,964.00	0.00			\$0.00
12" CMP	LF	44.00	\$35.00	\$1,540.00	0.00			\$0.00
48" RCP ARCH BEND	EA	4.00	\$2,000.00	\$8,000.00	0.00			\$0.00
48" RCP ARCH FLARED END	EA	4.00	\$1,100.00	\$4,400.00	0.00			\$0.00
36" RCP ARCH FLARED END	EA	2.00	\$850.00	\$1,700.00	0.00			\$0.00
18" RCP FLARED END	EA	2.00	\$390.00	\$780.00	0.00			\$0.00
48" RCP ARCH TEE	EA	2.00	\$1,300.00	\$2,600.00	0.00			\$0.00
24" X 18" RCP TEE	EA	2.00	\$400.00	\$800.00	0.00			\$0.00
CONTROLLED LOW STRENGTH BACKFILL MATERIAL	CY	147.00	\$66.00	\$9,702.00	0.00			\$0.00
	CONCRETE FILLET & PAN (REINFORCED), 8"  CONCRET FILLET & PAN (REINFORCED), 6"  CONCRETE DRAIN PAN  PCC PAVEMENT, 8" NON REINFORCED  CONCRETE APPROACH PAVEMENT, 6"  CONCRETE DRIVEWAY PAVEMENT  CONTRETE DRIVEWAY PAVEMENT, HEATED  TYPE E INLET, 10'  48" RCP ARCH, CLASS II  36" RCP ARCH, CLASS II  18" RCP, CLASS II  18" RCP, CLASS II  18" CMP  48" RCP ARCH BEND  48" RCP ARCH FLARED END  36" RCP ARCH FLARED END  18" RCP ARCH TEE  24" X 18" RCP TEE  CONTROLLED LOW STRENGTH BACKFILL	CONCRETE FILLET & PAN (REINFORCED), 8"  SY  CONCRET FILLET & PAN (REINFORCED), 6"  SY  CONCRETE DRAIN PAN  SY  PCC PAVEMENT, 8" NON REINFORCED  SY  CONCRETE APPROACH PAVEMENT, 6"  SY  CONCRETE DRIVEWAY PAVEMENT  SY  CONCRETE DRIVEWAY PAVEMENT, HEATED  SY  TYPE E INLET, 10'  EA  48" RCP ARCH, CLASS II  LF  24" RCP, CLASS II  LF  15" RCP, CLASS II  LF  15" RCP, CLASS II  LF  12" CMP  LF  48" RCP ARCH BEND  EA  48" RCP ARCH FLARED END  EA  18" RCP FLARED END  EA  48" RCP ARCH TEE  EA  CONTROLLED LOW STRENGTH BACKFILL  CY	CONCRETE FILLET & PAN (REINFORCED), 8" SY 26.00  CONCRET FILLET & PAN (REINFORCED), 6" SY 104.00  CONCRETE DRAIN PAN SY 46.00  PCC PAVEMENT, 8" NON REINFORCED SY 23.00  CONCRETE APPROACH PAVEMENT, 6" SY 426.00  CONCRETE DRIVEWAY PAVEMENT SY 556.00  CONCRETE DRIVEWAY PAVEMENT, HEATED SY 0.00  TYPE E INLET, 10' EA 9.00  48" RCP ARCH, CLASS II LF 218.00  36" RCP, CLASS II LF 240.00  18" RCP, CLASS II LF 290.00  15" RCP, CLASS II LF 290.00  15" RCP, CLASS II LF 240.00  18" CMP LF 114.00  48" RCP ARCH BEND EA 4.00  48" RCP ARCH FLARED END EA 4.00  48" RCP ARCH FLARED END EA 2.00  48" RCP ARCH TEE EA 2.00  48" RCP ARCH TEE EA 2.00  CONTROLLED LOW STRENGTH BACKFILL CY 147.00	EA 14.00 \$15.50  CONCRETE FILLET & PAN (REINFORCED), 8" SY 26.00 \$57.50  CONCRET FILLET & PAN (REINFORCED), 6" SY 104.00 \$54.00  CONCRETE DRAIN PAN SY 46.00 \$35.50  PCC PAVEMENT, 8" NON REINFORCED SY 23.00 \$37.50  CONCRETE APPROACH PAVEMENT, 6" SY 426.00 \$37.00  CONCRETE DRIVEWAY PAVEMENT SY 556.00 \$35.00  CONCRETE DRIVEWAY PAVEMENT SY 566.00 \$35.00  CONTRETE DRIVEWAY PAVEMENT, HEATED SY 0.00 \$4,050.00  TYPE E INLET, 10" EA 9.00 \$4,050.00  48" RCP ARCH, CLASS III LF 218.00 \$120.00  36" RCP ARCH, CLASS III LF 246.00 \$35.00  18" RCP, CLASS II LF 546.00 \$35.00  36" RCP ARCH BEND LF 44.00 \$35.00  48" RCP ARCH FLARED END EA 4.00 \$2,000.00  48" RCP ARCH FLARED END EA 4.00 \$35.00  18" RCP ARCH FLARED END EA 4.00 \$35.00  18" RCP ARCH FLARED END EA 2.00 \$390.00  48" RCP ARCH TEE EA 2.00 \$390.00  48" RCP ARCH TEE EA 2.00 \$400.00  CONTROLLED LOW STRENGTH BACKFILL CY 147.00 \$66.00	EA 14.00 \$15.50 \$217.00  CONCRETE FILLET & PAN (REINFORCED), 8' SY 26.00 \$57.50 \$1,495.00  CONCRET FILLET & PAN (REINFORCED), 6' SY 104.00 \$54.00 \$5,616.00  CONCRETE DRAIN PAN SY 46.00 \$35.50 \$1,633.00  PCC PAVEMENT, 8' NON REINFORCED SY 23.00 \$37.50 \$862.50  CONCRETE APPROACH PAVEMENT, 6' SY 426.00 \$37.00 \$15,762.00  CONCRETE DRIVEWAY PAVEMENT SY 556.00 \$35.00 \$19,460.00  CONTRETE DRIVEWAY PAVEMENT, HEATED SY 0.00 \$0.00 \$0.00  TYPE E INLET, 10' EA 9.00 \$4,050.00 \$36,450.00  A8' RCP ARCH, CLASS II LF 218.00 \$120.00 \$26,160.00  36' RCP ARCH, CLASS II LF 44.00 \$90.00 \$3,960.00  24' RCP, CLASS II LF 546.00 \$35.00 \$19,110.00  18' RCP, CLASS II LF 546.00 \$35.00 \$19,110.00  18' RCP, CLASS II LF 60.00 \$26.00 \$1,560.00  18' RCP, CLASS II LF 60.00 \$26.00 \$1,560.00  18' CMP LF 114.00 \$26.00 \$2,964.00  18' CMP LF 44.00 \$35.00 \$1,540.00  48' RCP ARCH FLARED END EA 4.00 \$2,000.00 \$8,000.00  18' RCP ARCH FLARED END EA 4.00 \$350.00 \$1,100.00  48' RCP ARCH FLARED END EA 2.00 \$390.00 \$3,000.00  18' RCP ARCH FLARED END EA 2.00 \$390.00 \$780.00  48' RCP ARCH FLARED END EA 2.00 \$390.00 \$780.00  48' RCP ARCH FLARED END EA 2.00 \$300.00 \$2,600.00  48' RCP ARCH FLARED END EA 2.00 \$300.00 \$3,000.00  48' RCP ARCH FLARED END EA 2.00 \$300.00 \$3,000.00  48' RCP ARCH FLARED END EA 2.00 \$300.00 \$3,000.00  48' RCP ARCH FLARED END EA 2.00 \$300.00 \$3,000.00  48' RCP ARCH FLARED END EA 2.00 \$300.00 \$3,000.00  48' RCP ARCH FLARED END EA 2.00 \$300.00 \$3,000.00  48' RCP ARCH FLARED END EA 2.00 \$300.00 \$3,000.00  48' RCP ARCH FLARED END EA 2.00 \$300.00 \$3,000.00  48' RCP ARCH FLARED END EA 2.00 \$300.00 \$3,000.00  48' RCP ARCH FLARED END EA 2.00 \$300.00 \$3,000.00  48' RCP ARCH FLARED END EA 2.00 \$300.00 \$3,000.00  48' RCP ARCH FLARED END \$3,000.00 \$3,000.00  48' RCP ARCH FLARED END \$3,000.00 \$3,000.00  50 \$3,000.00 \$3,000.00 \$3,000.00  50 \$3,000.00 \$3,000.00 \$3,000.00  50 \$3,000.00 \$3,000.00  50 \$3,000.00 \$3,000.00  50 \$3,000.00 \$3,000.00  50 \$3,000.00 \$3,000.00  50 \$3,000.00  50 \$3,000.00  50 \$3,000.00  50 \$3,000.00  50 \$3,000.00  50 \$3,000.00  50 \$3	EA 14.00 \$15.50 \$217.00 0.00  CONCRETE FILLET & PAN (REINFORCED), 8' SY 26.00 \$57.50 \$1,495.00 0.00  CONCRET FILLET & PAN (REINFORCED), 6' SY 104.00 \$54.00 \$5,616.00 0.00  CONCRETE DRAIN PAN SY 46.00 \$35.50 \$1,633.00 0.00  PCC PAVEMENT, 8' NON REINFORCED SY 23.00 \$37.50 \$862.50 0.00  CONCRETE APPROACH PAVEMENT, 6' SY 426.00 \$37.00 \$15,762.00 0.00  CONCRETE APPROACH PAVEMENT SY 556.00 \$35.00 \$19,460.00 0.00  CONCRETE DRIVEWAY PAVEMENT SY 556.00 \$35.00 \$19,460.00 0.00  TYPE E INLET, 10' EA 9.00 \$4,050.00 \$36,450.00 0.00  TYPE E INLET, 10' EA 9.00 \$4,050.00 \$36,450.00 0.00  36' RCP ARCH, CLASS II LF 248.00 \$120.00 \$26,160.00 0.00  24'' RCP, CLASS II LF 44.00 \$90.00 \$3,960.00 0.00  18'' RCP, CLASS II LF 546.00 \$35.00 \$19,110.00 0.00  18'' RCP, CLASS II LF 60.00 \$20.00 \$8,410.00 0.00  18'' RCP, CLASS II LF 44.00 \$35.00 \$1,560.00 0.00  18'' RCP, CLASS II LF 44.00 \$35.00 \$1,560.00 0.00  48'' RCP ARCH BEND EA 4.00 \$2,000.00 \$8,000.00 0.00  12'' CMP LF 114.00 \$26.00 \$1,560.00 0.00  48'' RCP ARCH FLARED END EA 4.00 \$35.00 \$1,700.00 0.00  48'' RCP ARCH FLARED END EA 4.00 \$35.00 \$1,700.00 0.00  48'' RCP ARCH FLARED END EA 4.00 \$350.00 \$1,700.00 0.00  48'' RCP ARCH TERE END EA 2.00 \$350.00 \$1,700.00 0.00  48'' RCP ARCH TERE END EA 2.00 \$350.00 \$1,700.00 0.00  48'' RCP ARCH TERE END EA 2.00 \$350.00 \$1,700.00 0.00  48'' RCP ARCH TERE EA 2.00 \$300.00 \$2,600.00 0.00  48'' RCP ARCH TERE EA 2.00 \$300.00 \$2,600.00 0.00  48'' RCP ARCH TERE EA 2.00 \$400.00 \$800.00 0.00  48'' RCP ARCH TERE EA 2.00 \$400.00 \$800.00 0.00  48'' RCP ARCH TERE EA 2.00 \$400.00 \$800.00 0.00  48'' RCP ARCH TERE EA 2.00 \$400.00 \$800.00 0.00  48'' RCP ARCH TERE EA 2.00 \$400.00 \$800.00 0.00	EA 14.00 \$15.50 \$217.00 0.00 14.00  CONCRETE FILLET & PAN (REINFORCED). 8' SY 26.00 \$57.50 \$1,495.00 0.00 26.00  CONCRET FILLET & PAN (REINFORCED). 6' SY 104.00 \$54.00 \$5,616.00 0.00 10.00  CONCRETE DRAIN PAN SY 46.00 \$35.50 \$1,633.00 0.00 46.00  PCC PAVEMENT, 8' NON REINFORCED SY 23.00 \$37.50 \$862.50 0.00 23.00  CONCRETE DRIVEWAY PAVEMENT SY 566.00 \$37.00 \$15,762.00 0.00 426.00  CONCRETE DRIVEWAY PAVEMENT SY 566.00 \$35.00 \$19,460.00 0.00 556.00  CONTRETE DRIVEWAY PAVEMENT SY 566.00 \$35.00 \$0.00 0.00 0.00  TYPE E INLET, 10' EA 9.00 \$4,050.00 \$36,450.00 0.00 9.00  48' RCP ARCH, CLASS II LF 218.00 \$120.00 \$26,160.00 0.00 218.00  36' RCP ARCH, CLASS II LF 240.00 \$30.00 \$3,960.00 0.00 44.00  24' RCP, CLASS II LF 290.00 \$20.00 \$3,960.00 0.00 546.00  18' RCP, CLASS II LF 60.00 \$20.00 \$3,960.00 0.00 60.00  18' RCP, CLASS II LF 440.00 \$30.00 \$3,960.00 0.00 60.00  18' RCP, CLASS II LF 440.00 \$35.00 \$1,560.00 0.00 60.00  18' RCP ARCH BEND LF 440.00 \$35.00 \$1,560.00 0.00 60.00  18' RCP ARCH FLARED END EA 4.00 \$2,000.00 \$8,000.00 0.00 44.00  48' RCP ARCH FLARED END EA 4.00 \$35.00 \$1,540.00 0.00 60.00  18' RCP ARCH FLARED END EA 4.00 \$35.00 \$1,540.00 0.00 44.00  48' RCP ARCH FLARED END EA 4.00 \$30.00 \$3.900.00 0.00 40.00 40.00  24' RCP, CLASS II EA 4.00 \$30.00 \$1,540.00 0.00 40.00 40.00  18' RCP ARCH FLARED END EA 4.00 \$30.00 \$1,540.00 0.00 40.00 40.00  24' RCP, CRASH FLARED END EA 4.00 \$30.00 \$1,540.00 0.00 40.	EA

66	DITCH AND CHANNEL PROTECTION BASKETS	CY	166.00	\$219.46	\$36,430.36	0.00	166.00	\$36,430.36	\$0.00
67	CLASS 2 RIPRAP	CY	15.00	\$60.00	\$900.00	0.00	15.00	\$900.00	\$0.00
68	FILTER FABRIC	SY	385.00	\$2.00	\$770.00	0.00	385.00	\$770.00	\$0.00
69	EROSION BALES	EA	25.00	\$22.00	\$550.00	0.00	25.00	\$550.00	\$0.00
70	SILT FENCE	LF	3000.00	\$3.33	\$9,990.00	0.00	3000.00	\$9,990.00	\$0.00
71	MUCK SILT FENCE	CY	100.00	\$9.00	\$900.00	0.00	100.00	\$900.00	\$0.00
72	REPAIR SILT FENCE	LF	500.00	\$3.05	\$1,525.00	0.00	500.00	\$1,525.00	\$0.00
73	REMOVE SILT FENCE	LF	1000.00	\$1.30	\$1,300.00	0.00	1000.00	\$1,300.00	\$0.00
74	SILT TRAP	CY	50.00	\$5.00	\$250.00	0.00	50.00	\$250.00	\$0.00
75	ROCK CHECK DAM	TON	50.00	\$22.00	\$1,100.00	0.00	50.00	\$1,100.00	\$0.00
76	SEEDING, FERTILZING AND MULCHING	SY	9200.00	\$0.50	\$4,600.00	0.00	9200.00	\$4,600.00	\$0.00
77	SODDING	SY	8400.00	\$3.50	\$29,400.00	0.00	8400.00	\$29,400.00	\$0.00
78	PLACE TOPSOIL	CY	500.00	\$10.00	\$5,000.00	0.00	500.00	\$5,000.00	\$0.00
79	FURNISH AND PLACE TOPSOIL	CY	970.00	\$28.00	\$27,160.00	0.00	970.00	\$27,160.00	\$0.00
80	COMPOST	TON	880.00	\$10.50	\$9,240.00	0.00	880.00	\$9,240.00	\$0.00
81	TRANSPLANT TREE	EA	9.00	\$120.00	\$1,080.00	0.00	9.00	\$1,080.00	\$0.00
82	COLORADO BLUE SPRUCE, 5'	EA	13.00	\$300.00	\$3,900.00	0.00	13.00	\$3,900.00	\$0.00
83	MALUS SPRING SNOW CRAB, 1.0"-1.5" CAL	EA	4.00	\$95.00	\$380.00	0.00	4.00	\$380.00	\$0.00
84	PRUNUS MAACKII AMUR CHOKECHERRY, 1.0" -1.5" CAL	EA	2.00	\$95.00	\$190.00	0.00	2.00	\$190.00	\$0.00
85	CANADA RED SELECT CHERRY, 1.0"-1.5"  CAL	EA	4.00	\$170.00	\$680.00	0.00	4.00	\$680.00	\$0.00
86	COMMON PURPLE LILAC, 2'	EA	20.00	\$50.00	\$1,000.00	0.00	20.00	\$1,000.00	\$0.00
87	COMMON WHITE LILAC, 2'	EA	5.00	\$50.00	\$250.00	0.00	5.00	\$250.00	\$0.00
88	8" PVC SEWER MAIN (6'-8')	LF	142.00	\$13.30	\$1,888.60	0.00	142.00	\$1,888.60	\$0.00
	<u>L</u>					l l	: :=:00	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	72.00

8" PVC SEWER MAIN (8'-10')	LF	1496.00	\$15.50	\$23,188.00	0.00	1496.00	\$23,188.00	\$0.00
8" PVC SEWER MAIN (10'-12')	LF	1120.00	\$17.50	\$19,600.00	0.00	1120.00	\$19,600.00	\$0.00
8" PVC SEWER MAIN (12'-14')	LF	480.00	\$24.50	\$11,760.00	0.00	480.00		\$0.00
8" PVC SEWER MAIN (14'-16')	LF	28.00	\$37.30	\$1,044.40	0.00	28.00	\$1,044.40	\$0.00
4" PVC SEWER SERVICE LINE	LF	890.00	\$10.75	\$9,567.50	0.00	890.00	\$9,567.50	\$0.00
CONNECTION TO EXISTING SEWER MAIN	EA	1.00	\$400.00	\$400.00	0.00	1.00	\$400.00	\$0.00
EXTRA DEPTH MANHOLE, 48" DIA	V FT	60.40	\$350.00	\$21,140.00	0.00	60.40	\$21,140.00	\$0.00
STANDARD MANHOLE, 48" DIA	EA	13.00	\$1,900.00	\$24,700.00	0.00	13.00	\$24,700.00	\$0.00
SEWER SERVICE CONNECTION	EA	29.00	\$475.00	\$13,775.00	0.00	29.00	\$13,775.00	\$0.00
6" PVC WATER MAIN	LF	20.00	\$13.50	\$270.00	0.00	20.00	\$270.00	\$0.00
8" PVC WATER MAIN	LF	2668.00	\$22.20	\$59,229.60	0.00	2668.00	\$59,229.60	\$0.00
14" D. I. WATER MAIN	LF	2798.00	\$45.40	\$127,029.20	0.00	2798.00	\$127,029.20	\$0.00
16" D. I. WATER MAIN	LF	0.00	\$50.90	\$0.00	0.00	0.00	\$0.00	\$0.00
1" COPPER WATER SERVICE LINE	LF	1164.00	\$9.75	\$11,349.00	0.00	1164.00	\$11,349.00	\$0.00
8" X 6" REDUCER	EA	3.00	\$285.00	\$855.00	0.00	3.00	\$855.00	\$0.00
16" X 14" REDUCER	EA	0.00	\$600.00	\$0.00	0.00	0.00	\$0.00	\$0.00
8" X 8' X 6" TEE	EA	6.00	\$360.00	\$2,160.00	0.00	6.00	\$2,160.00	\$0.00
8" X 8" X 8" TEE	EA	4.00	\$400.00	\$1,600.00	0.00	4.00	\$1,600.00	\$0.00
16" X 16" X 16" TEE	EA	0.00	\$1,200.00	\$0.00	0.00	0.00		\$0.00
14" X 14" X 6" TEE	EA	2.00	\$850.00	\$1,700.00	0.00			\$0.00
14" X 14" X 14" TEE	EA	1.00	\$1,050.00	\$1,050.00	0.00	1.00		\$0.00
16" X 16" X 6" TEE	EA	0.00	\$1,000.00	\$0.00	0.00	0.00	\$0.00	\$0.00
6" X 22.5 DEGREE BEND	EA	1.00	\$200.00	\$200.00	0.00		\$200.00	\$0.00
	EXTRA DEPTH MANHOLE, 48" DIA  STANDARD MANHOLE, 48" DIA  SEWER SERVICE CONNECTION  6" PVC WATER MAIN  8" PVC WATER MAIN  14" D. I. WATER MAIN  16" D. I. WATER MAIN  1" COPPER WATER SERVICE LINE  8" X 6" REDUCER  16" X 14" REDUCER  8" X 8" X 8" TEE  16" X 16" X 16" TEE  14" X 14" X 6" TEE	8" PVC SEWER MAIN (10'-12')  B" PVC SEWER MAIN (12'-14')  B" PVC SEWER MAIN (12'-14')  LF  8" PVC SEWER MAIN (14'-16')  LF  4" PVC SEWER SERVICE LINE  LF  CONNECTION TO EXISTING SEWER MAIN  EA  EXTRA DEPTH MANHOLE, 48" DIA  SEWER SERVICE CONNECTION  EA  6" PVC WATER MAIN  LF  8" PVC WATER MAIN  LF  14" D. I. WATER MAIN  LF  16" D. I. WATER MAIN  LF  8" X 6" REDUCER  EA  8" X 8' X 6" TEE  EA  8" X 8" X 8" TEE  EA  16" X 14" X 14" X 16" TEE  EA  14" X 14" X 14" TEE  EA  6" X 22.5 DEGREE BEND	B" PVC SEWER MAIN (10'-12')   LF	LF	LF	STADDARD MANHOLE, 48" DIA   EA   13.00   \$13.50   \$23,188.00   0.00	F   1496.00   \$15.50   \$22,188.00   0.00   1496.00   1	E** 1496.00 \$15.50 \$23,188.00 0.00 1496.00 \$23,188.00 6** PVC SEWER MAIN (10*12*)   LF

8" X 11.25 DEGREE BEND	EA	3.00	\$250.00	\$750.00	0.00	3.00	\$750.00	\$0.00
8" X 22.5 DEGREE BEND	EA	2.00	\$250.00	\$500.00	0.00	2.00	\$500.00	\$0.00
14" X 11.25 DEGREE BEND	EA	6.00	\$630.00	\$3,780.00	0.00	6.00	\$3,780.00	\$0.00
14" X 22.5 DEGREE BEND	EA	1.00	\$630.00	\$630.00	0.00	1.00	\$630.00	\$0.00
14" X 45 DEGREE BEND	EA	1.00	\$630.00	\$630.00	0.00	1.00	\$630.00	\$0.00
16" X 11.25 DEGREE BEND	EA	0.00	\$760.00	\$0.00	0.00	0.00	\$0.00	\$0.00
16" X 22.5 DEGREE BEND	EA	0.00	\$730.00	\$0.00	0.00	0.00	\$0.00	\$0.00
16" X 45 DEGREE BEND	EA	0.00	\$730.00	\$0.00	0.00	0.00	\$0.00	\$0.00
6" GATE VALVE W/BOX	EA	1.00	\$700.00	\$700.00	0.00	1.00	\$700.00	\$0.00
8" GAVE VALVE W/BOX	EA	13.00	\$920.00	\$11,960.00	0.00	13.00	\$11,960.00	\$0.00
14" BUTTERFLY VALVE W/BOX	EA	5.00	\$1,750.00	\$8,750.00	0.00	5.00	\$8,750.00	\$0.00
16" BUTTERLY VALVE W/BOX	EA	0.00	\$2,125.00	\$0.00	0.00	0.00	\$0.00	\$0.00
1" CURB STOP AND BOX	EA	10.00	\$300.00	\$3,000.00	0.00	10.00	\$3,000.00	\$0.00
1" TAPPING SADDLE	EA	40.00	\$310.00	\$12,400.00	0.00	40.00		\$0.00
WATER SERVICE RECONNECTION	EA	30.00	\$265.00	\$7,950.00	0.00	30.00		\$0.00
WATER SERVCIE NEW CONNECTION	EA	10.00	\$300.00	\$3,000.00	0.00			\$0.00
FIRE HYDRANT W/AUX. VALVE & LEAD	EA	13.00	\$2,800.00	\$36,400.00	0.00			\$0.00
REMOVE FIRE HYDRANT & APPURTENANCES	EA	3.00	\$850.00	\$2,550.00	0.00			\$0.00
RESET HYDRANT	EA	1.00	\$1,140.00	\$1,140.00	0.00			\$0.00
FIRE HYDRANT EXTENSION, 12"	EA	1.00	\$500.00	\$500.00	0.00			\$0.00
ADJUST VALVE BOX	EA	1.00	\$100.00	\$100.00	0.00			\$0.00
ABANDON VALVE	EA	15.00	\$55.00	\$825.00	0.00			\$0.00
5' MANHOLE W/AIR RELEASE VALVE	EA	0.00	\$5,000.00	\$0.00	0.00	13.00	\$0.00	\$0.00
	8" X 22.5 DEGREE BEND  14" X 11.25 DEGREE BEND  14" X 22.5 DEGREE BEND  14" X 45 DEGREE BEND  16" X 11.25 DEGREE BEND  16" X 22.5 DEGREE BEND  16" X 45 DEGREE BEND  6" GATE VALVE W/BOX  8" GAVE VALVE W/BOX  14" BUTTERFLY VALVE W/BOX  16" BUTTERLY VALVE W/BOX  1" CURB STOP AND BOX  1" TAPPING SADDLE  WATER SERVICE RECONNECTION  WATER SERVICE NEW CONNECTION  FIRE HYDRANT W/AUX. VALVE & LEAD  REMOVE FIRE HYDRANT &  APPURTENANCES  RESET HYDRANT  FIRE HYDRANT EXTENSION, 12"  ADJUST VALVE BOX  ABANDON VALVE	8" X 22.5 DEGREE BEND EA  14" X 11.25 DEGREE BEND EA  14" X 22.5 DEGREE BEND EA  14" X 45 DEGREE BEND EA  16" X 11.25 DEGREE BEND EA  16" X 22.5 DEGREE BEND EA  16" X 22.5 DEGREE BEND EA  16" X 45 DEGREE BEND EA  6" GATE VALVE W/BOX EA  8" GAVE VALVE W/BOX EA  14" BUTTERFLY VALVE W/BOX EA  16" BUTTERLY VALVE W/BOX EA  1" CURB STOP AND BOX EA  1" TAPPING SADDLE WATER SERVICE RECONNECTION EA  FIRE HYDRANT W/AUX. VALVE & LEAD EA  REMOVE FIRE HYDRANT & APPURTENANCES RESET HYDRANT EA  ADJUST VALVE BOX EA  5' MANHOLE W/AIR RELEASE VALVE	8" X 22.5 DEGREE BEND EA 2.00  14" X 11.25 DEGREE BEND EA 6.00  14" X 22.5 DEGREE BEND EA 1.00  14" X 45 DEGREE BEND EA 0.00  16" X 11.25 DEGREE BEND EA 0.00  16" X 22.5 DEGREE BEND EA 0.00  16" X 45 DEGREE BEND EA 0.00  6" GATE VALVE W/BOX EA 1.00  8" GAVE VALVE W/BOX EA 1.00  14" BUTTERFLY VALVE W/BOX EA 1.00  16" BUTTERLY VALVE W/BOX EA 10.00  1" CURB STOP AND BOX EA 10.00  T" TAPPING SADDLE EA 40.00  WATER SERVCIE RECONNECTION EA 30.00  FIRE HYDRANT W/AUX. VALVE & LEAD EA 13.00  REMOVE FIRE HYDRANT & EA 3.00  REMOVE FIRE HYDRANT EA 1.00  ADJUST VALVE BOX EA 1.00  ABANDON VALVE EA 15.00	EA   3.00   \$250.00	EA 3.00 \$250.00 \$750.0	EA 3.00 \$250.00 \$750.00 0.00 8° X 22.5 DEGREE BEND EA 2.00 \$250.00 \$500.00 0.00 14° X 11.25 DEGREE BEND EA 6.00 \$630.00 \$3,780.00 0.00 14° X 22.5 DEGREE BEND EA 1.00 \$630.00 \$630.00 0.00 14° X 22.5 DEGREE BEND EA 1.00 \$630.00 \$630.00 0.00 14° X 45 DEGREE BEND EA 0.00 \$760.00 \$0.00 0.00 16° X 11.25 DEGREE BEND EA 0.00 \$730.00 \$0.00 0.00 16° X 22.5 DEGREE BEND EA 0.00 \$730.00 \$0.00 0.00 16° X 22.5 DEGREE BEND EA 0.00 \$730.00 \$0.00 0.00 16° X 45 DEGREE BEND EA 0.00 \$730.00 \$0.00 0.00 16° X 45 DEGREE BEND EA 0.00 \$700.00 \$0.00 0.00 16° ATE VALVE W/BOX EA 1.00 \$700.00 \$11.960.00 0.00 18° BUTTERLY VALVE W/BOX EA 13.00 \$920.00 \$11.960.00 0.00 18° BUTTERLY VALVE W/BOX EA 0.00 \$2,125.00 \$0.00 0.00 11° CURB STOP AND BOX EA 10.00 \$300.00 \$3,000.00 0.00 11° TURB STOP AND BOX EA 10.00 \$300.00 \$3,000.00 0.00 11° TAPPING SADDLE EA 40.00 \$310.00 \$12,400.00 0.00 WATER SERVICE RECONNECTION EA 10.00 \$300.00 \$3,000.00 0.00 FIRE HYDRANT W/AUX. VALVE & LEAD EA 13.00 \$2,800.00 \$3,000.00 0.00 REMOVE FIRE HYDRANT & EA 10.00 \$300.00 \$3,000.00 0.00 REMOVE FIRE HYDRANT & EA 10.00 \$300.00 \$3,000.00 0.00 REMOVE FIRE HYDRANT & EA 10.00 \$300.00 \$3,000.00 0.00 REMOVE FIRE HYDRANT & EA 10.00 \$300.00 \$3,000.00 0.00 REMOVE FIRE HYDRANT & EA 10.00 \$300.00 \$3,000.00 0.00 RESET HYDRANT EXTENSION, 12° EA 10.00 \$1,140.00 \$1,140.00 0.00 RESET HYDRANT EXTENSION, 12° EA 10.00 \$500.00 \$500.00 0.00 ABANDON VALVE EA 15.00 \$550.00 \$825.00 0.00	EA 3.00 \$250.00 \$750.00 0.00 3.00 8° X 225 DEGREE BEND EA 2.00 \$250.00 \$500.00 0.00 2.00 14° X 11.25 DEGREE BEND EA 6.00 \$630.00 \$3,780.00 0.00 6.00 14° X 22.5 DEGREE BEND EA 1.00 \$630.00 \$630.00 0.00 1.00 14° X 45 DEGREE BEND EA 1.00 \$630.00 \$630.00 0.00 1.00 16° X 11.25 DEGREE BEND EA 0.00 \$760.00 \$0.00 0.00 16° X 22.5 DEGREE BEND EA 0.00 \$760.00 \$0.00 0.00 0.00 16° X 22.5 DEGREE BEND EA 0.00 \$770.00 \$0.00 0.00 0.00 16° X 25 DEGREE BEND EA 0.00 \$700.00 \$0.00 0.00 0.00 0.00 16° X 45 DEGREE BEND EA 0.00 \$700.00 \$0.00 0.00 0.00 0.00 16° X 45 DEGREE BEND EA 0.00 \$700.00 \$0.00 0.00 0.00 0.00 16° X 45 DEGREE BEND EA 1.00 \$700.00 \$700.00 0.00 0.00 1.00 16° X 45 DEGREE BEND EA 1.00 \$700.00 \$700.00 0.00 0.00 1.00 16° BENDER EA 0.00 \$700.00 \$0.00 0.00 0.00 1.00 1.00 16° BENDER EA 1.00 \$700.00 \$700.00 0.00 1.00 1.00 16° BENDER EA 1.00 \$700.00 \$0.00 0.00 1.00 1.00 16° BENDER EA 1.00 \$11,960.00 0.00 1.00 11.00 16° BUTTERFLY VALVE W/BOX EA 0.00 \$1,750.00 \$8,750.00 0.00 0.00 1.00 16° BUTTERFLY VALVE W/BOX EA 0.00 \$2,125.00 \$0.00 0.00 1.00 11° TURB STOP AND BOX EA 10.00 \$300.00 \$3,000.00 0.00 1.00 11° TURB STOP AND BOX EA 10.00 \$300.00 \$3,000.00 0.00 1.00 11° TURB STOP AND BOX EA 10.00 \$300.00 \$1,00 0.00 1.00 11° TURB STOP AND BOX EA 10.00 \$300.00 \$1,00 0.00 1.00 11° TURB STOP AND BOX EA 10.00 \$300.00 \$1,00 0.00 1.00 1.00 11° TURB STOP AND BOX EA 10.00 \$300.00 \$1,00 0.00 1.00 1.00 1.00 1.00 1.00 1.00	EA 3.00 \$250.00 \$770.00 0.00 3.00 \$770.00

135	TEMPORARY CONNECTION AT STA 19+62	LS	1.00	\$4,500.00	\$4,500.00	0.00	1.00	\$4,500.00	\$0.00
136	TEMPORARY CONNECTION AT STA 25+97	LS	1.00	\$3,300.00	\$3,300.00	0.00	1.00	\$3,300.00	\$0.00
137	TEMPORARY SERVICE CONNECTION FOR RED RODKS	LS	1.00	\$5,200.00	\$5,200.00	0.00	1.00	\$5,200.00	\$0.00
138	WATER MAIN INSULATION	SF	256.00	\$3.00	\$768.00	0.00	256.00	\$768.00	\$0.00
139	MUCK EXCAVATION (TRENCH)	CY	830.00	\$9.00	\$7,470.00	0.00	830.00	\$7,470.00	\$0.00
140	ROCK EXCAVATION (TRENCH)	CY	2320.00	\$61.00	\$141,520.00	0.00	2320.00	\$141,520.00	\$0.00
141	24" STEEL CASING PIPE	LF	88.00	\$241.00	\$21,208.00	0.00	88.00	\$21,208.00	\$0.00
142	TYPE I BEDDING MATERIAL	TON	2375.00	\$15.75	\$37,406.25	0.00	2375.00	\$37,406.25	\$0.00
143	TYPE II FOUNDATION MATERIAL	TON	780.00	\$14.00	\$10,920.00	0.00	780.00	\$10,920.00	\$0.00
144	DEMOLISH EXISTING WILDWOOD WATER STORAGE TANK	LS	1.00	\$11,000.00	\$11,000.00	0.00	1.00	\$11,000.00	\$0.00
145	HAULING AND PLACING MILLED ASPHALT	CY	2480.00	\$13.50	\$33,480.00	0.00	2480.00	\$33,480.00	\$0.00
			0.00			0.00	0.00		
	NEW ITEMS CO#1		0.00			0.00	0.00		
146	10" PVC WATER MAIN	LF	2278.00	\$34.50	\$78,591.00	0.00	2278.00	\$78,591.00	\$0.00
147	10" GAVE VALVE W/BOX	EA	10.00	\$1,400.00	\$14,000.00	0.00	10.00	\$14,000.00	\$0.00
148	10" X 10" X 10" TEE	EA	1.00	\$650.00	\$650.00	0.00	1.00	\$650.00	\$0.00
149	10" X 10" X 6" TEE	EA	6.00	\$600.00	\$3,600.00	0.00	6.00	\$3,600.00	\$0.00
150	10" X 11.25 DEGREE BEND	EA	1.00	\$450.00	\$450.00	0.00	1.00	\$450.00	\$0.00
151	10" X 22.5 DEGREE BEND	EA	10.00	\$450.00	\$4,500.00	0.00	10.00	\$4,500.00	\$0.00
152	10" X 45 DEGREE BEND	EA	4.00	\$450.00	\$1,800.00	0.00	4.00		\$0.00
153	14" X 10" REDUCER	EA	1.00	\$550.00	\$550.00	0.00	1.00		\$0.00
154	Inspector Job Trailer	MONTH	10.00	\$550.00	\$5,500.00	0.00	10.00		\$0.00
155	Placing Millings for Temporary Surfacing	CY	500.00	\$5.45	\$2,725.00	0.00			\$0.00

								V I I I <del>4</del> 0 I -
New Items Change Order No. Two (2)								
Site Grading for City Well Lot	CY	0	\$4.42	\$0.00	1,766.00	1766.00	\$7,805.72	\$7,805.7
SOIL SUPPORT FABRIC/GEOGRID	SY	0	\$3.10	\$0.00	2,500.00	2500.00	\$7,750.00	\$7,750.0
TOTAL				\$1,723,043.51			\$1,738,599.23	\$15,555.7
C.C.O. HISTORY INCREASE/(DECREASE)		ı		PRIOR ADJUSTED C	CONTRACT PRICE :			\$1,723,043.5
CCO #1		(\$55,872.70)		NET INCREASE/(DEC		\$15,55		
CCO #2 CCO #3				ADJUSTED CONTRA	ACT PRICE:		\$1,738,599.23	
PRIOR TOTAL =		(\$55.872.70)		CHANGE TO DATE:				
FRIOR TOTAL =		(\$55,872.70)		CHANGE TO DATE.				
ACTOR:						D	ATE:	
ER:						D	ATE:	
MAYOR:						D	ATE:	
FINANCE:						D	ATE:	
	Site Grading for City Well Lot  SOIL SUPPORT FABRIC/GEOGRID  TOTAL  C.C.O. HISTORY INCREASE/(DECREASE)  CCO #1 CCO #2 CCO #3  PRIOR TOTAL =  ACTOR:  EER:	Site Grading for City Well Lot  CY  SOIL SUPPORT FABRIC/GEOGRID  TOTAL  C.C.O. HISTORY INCREASE/(DECREASE)  CCO #1 CCO #2 CCO #3  PRIOR TOTAL =  ACTOR:  EER:	Site Grading for City Well Lot	New Items Change Order No. Two (2)   Site Grading for City Well Lot				

NEW CONTRACT TIME: No Change from CO No.#1

CONTRACT TIME CHANGE +/-:

# CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER NO. (TYPE # HERE) WILDWOOD DRIVE STREET AND UTILITIES CONSTRUCTION PROJECT WSS00-943

**JUNE 1, 2001** 

ORIGINAL CONTRACT AMOUNT: \$1,778,916.21
CONTRACTOR: HILLS MATERIALS CO.

LINE		
ITEM	DESCRIPTION	REASON FOR CHANGE
156	Site Grading for City Well Lot	Grading of City Well Lot adjacent to project.
157	SOIL SUPPORT FABRIC/GEOGRID	Soils were soft and geogrid needed in lieu of sugar rock as bid.
PREPAR	RED BY:	DATE: